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2 |In Phalodi and Barmer, nlnmull
for storing drinking water. Bm

() Gujarat |
(¢) Uttarakhand - R

| B o ];F LF |
3 | Which of the following ex |

(a) A farmer irrigating his m
(c) A doctor in a hospital treating a

4 The following qu
Answu'ﬂlnm

I(a)BothAde
(b) Both A and R ;

(c)A:stmemeil > |
{d)hmfalsehnkll

Assertion (A):  We humans along with all living
dependent on this

Which one of the following countries | TWC
(a) China .
(¢) America

. i

.IH 5

5 . 'J
&~

The following qummns consist of two statements - Assertion (A
Answer the question by selecting the appropriate m -

(a) Both A and R are true and R is the correct explanation of A.

(b)BoﬂanndRmmbutRmnutthcmmctexplmﬂm
(c) A is true but R is false. =y

(d) A is false but R is true. a

Assertion (A)  :  Sri Lanka adopted ‘Tamil’ as the official language of the state.

Reason (R) . The Government of Sri Lanka a seri P
e adopted a series of majoritarian
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f 7 | Which one of the following statements is not true”

(a) The constitution prohibits discrimination on the grounds of religion.

(b) The constitution allows us to practice, profess and propagate any religion or not 10
follow any.

(¢c)The constitution of India allows the state to intervene in the matters of religion
in order to ensure equality between religious communilies.

(d) As per the constitution, religion can never be separated from politics.

— La

8  |The following question consists of two statements - Assertion (A) and Reason (R). Read
the statements and choose the correct option:

(a) Both A and R are true and R is the correct explanation of A.

(b) Both A and R are true but R is not the correct explanation of A.
(c) A is true but R is false. "
(d) A is false but R is true.

| (a) Russia (b) Australia (¢c) Sweden (d) Indha

10 | Based on the image given below, choose the correct option: |

Which of the following aspects best signifies this image? -
| (a) Heroism and Justice

| (b) Folk and cultural tradition

— —_— — — e
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(a) Bahujan Samaj
(¢) Integral Humanism

—_—
._‘

13 Identify the reason for the non-participa ]
relaunched the Civil Dlsubedlmch :

(a) The Bntish conceded 10 the demands @

(d) Dissatisfaction of the industrialists with the mo

14 | The following question consists of two statements - A
the statements and choose the correct option:

.I e
--!I-Il.-l-1 :.I -

(a)BothAdemlmundRuthammmhmﬁm
(b)BothAandRmtruemeunotthecomm:mp
(¢) A is true but R is false,

(d) A is false but R is true. -

Assertion (A):  Non-renewable resources are those wllich
years of use,

Reason (R): Kmhhullowmfammomhtymbeeumit

provision of basic health and educational flCllih:. . "’“l“"ll
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y
ms question consists of two stnwmmll Assertion (A) and Reason (R). Read

the statements and choose the correct option:

| (a) Both A and R are true and R is the correct explanation of A. '
(b)BothAandklrembulRilmttheoomciuphmﬂmafﬁ....nh L

(¢) A is true but R is false.
(d) A is false but R is true.

Assertion (A) : Nntevuyoncw&lcomedtho 1
had fears about it.
Reason (R) : Printed tracts and n L

Which among the following is not a condition re

(a) Different organs of the government

(b) Governments at different levels
(¢) Different social groups

(d) Different parties, pressure groups and movements

1 ST T ' I
18 Namethctypcnfunanplaymml where murepwpl:ﬂnnraquu'edm :mployed_
|
(a) seasonal employment (b) disguised unemployment

(c) frictional unemployment (d) educated unemployment

Which one of the following subjects is included in the Union List?

(a) Communication  (b) Trade (c) Commerce (d) Irrigation
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20 | Which one of the following institutic

(a) Gram Sabha |
| (¢) Panchayat Samiti el

QNu.l
21 | Sohan Negi iuftmu- T
problems while farming.
Sohantomolvethm
Lﬂusregﬂ-d.
22 | Explain the roln of the Elﬁcﬂm é
parties in India AL

| i Analyse the need for political paruuiﬁ .

R o e oyt e

(1) What does the above cartoon reflect?
(11) What and how does the government know about you and m

Explain two reasons why women face discrimination in our society.

SECTION-C
Short Answer Questions (15 Marks)

m | Question

How did the advent of print culturc contribute to the empowerment of civil servants
and merchants in China?
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26 | Explain how globalisation has been ndvmm‘mm s nI A G- -
OR |

L

“After industrial activity starts, urbanisation follows. Thus, we s
:dlmu:ulm:mn and urbanisation go hand in hand.’ Validate the

27

“Democracy stands much superior to any other forms of government in §
dignity and freedom of the individual”. Support the statement with argt
OR

OR
Describe the occurrence of minerals in sedimentary rocks.

Examine the different phases that were involved in the process ofﬂu'mﬂﬁuﬂun-. |

OR
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34.1 When and why was the Non-C

st s
-

34.2 Enlist the reason for the opposition of
- 34.3 What were the factors contributing to the tx
.

Tk 'Mlumglhoflmntrymmm ed by th
industries. Mm:ﬁcnmng sector 18 considered the bac
and economic development in particular. Industrial develoy
eradication of unemployment and poverty from our cuunu-y "his w

philosophy behind public sector industries and joint sector ventures in |

aimed at bringing down regional disparities by establishing industries in trit

backward areas. Export of manufactured goods expands trade and commere

brings in much needed foreign exchange.Countries that transform their raw | materials
into a wide variety of finished goods of higher value are prosperous. India’s prosper. y |

lies in increasing and diversifying its manufacturing industries as quickly as 2.

35.1 Why is manufacturing considered the backbone of economic development?
Support the statement with two examples.

35.2 What was the main philosophy behind public sector and joint sector
industries in India?

35.3 With the help of an example, explain how the agriculture sector supports
industries.

Read the following passage and answer the questions that follows: 1+1+2

If the borrower fails to repay the loan, the lender has the night to sell the asset or
collateral to obtain payment. Property such as land titles, deposits with banks, livestock
mmmmmmphmfonnmdnudhrhumms.lnwmﬂ.mum
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mﬂ ;g:;l:m::::uu? rcﬁdqlrcl_ncm. and lh_t: mode of repayment together compnse what is
| ca ¢ 3 50 Cl:L It. The terms of credit vary substantially from one credit
arrangement 1o another. They may vary depending on the nature of the lender and the

16.1 Collateral refers 1o

| (a) assets of the lender deposited with the banks
(b) payment through cheques

(%)% aaics B e rower owns and uses as a guarantee to a lender until a loan
i1s repaid.

1 mFr e a ' ,
r"- 1 'H_Illiil ] \l-'---- S g e e W . e
= Ly 4
=

Marks

(ﬂMﬂmamdhhwmmhdm&eﬁM" .efhuﬂa.ldm-' |
them and write their correct names on the lines provided. 1 = 5 |
(a) ;;rmumum Congress held a session in September
(b) A place where Mahatma Gandi lent support to Indigo planters.

(ii) On the same outline map of India locate and label any THREE of the following:

P

e ]

(a) the nuclear power plant in Maharashtra
(b) the dam built on the river Mahanadi ;
(<) the intemations] airport in Telangana P
(d) the oldest artificial sca port of the country
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